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We derive from this that live animals, etc. — 297 a2 719 YW

OVERVIEW

The 771N writes' concerning the two 01"y that were brought on 1193 1 (the
nROMY? 1YY and the 2IRIY? °vw) that >m 7Y 2IRTVY AT 10V 77V QWK PYwm
1Oy 1937 710197 (indicating that it must be alive until the 7795 of the =ww
nxvr). From this 777 ' derives that if the nonwni 1°vw dies before the o7
of the nXun YW is sprinkled, the o7 is spilled and a new 23 has to be made
with two new 0>7°¥w. We cannot appoint a new 17?nwni1 v and sprinkle the
blood of the original nXvn 7°yw; once the 07 was 771 it is 7771 forever.’
Concerning 2»» by animals, the 770 writes' 02 2% o7 anAwn *3 from
which we derive that as long as they have the o, they are 7109 for a 127p,
but as soon as the 21 heals they are fit for a 729p. A 72w 2% does not
disqualify an animal from being a 277 when the 212 is no longer there. This
is the source of the *npYomn whether n"va are 2171 or not. 21 derives that just
as a 12 0 is not M7l so too with any other 7109 there is no "7 for n"va,
while 717 'Y maintains that it is only by a 92w 2% where the 770
specifically tells us that it is not 1771, however by any other 2109 even if it is
when the animal 1s alive, nevertheless once it is 1171 1t 18 711771 forever.

Our X713 teaches us that from the ruling of °"3 concerning the 7n72 of 1w
oMW we can derive three nd%n. One, that n"va are 2°n71; two, that even
something which was never fit for a 7299 1s 7n73; and three, that "7 1s
effective even if is only w17 with 2°»7 n17P and not 71A7 NWYTR (as 1s the
case by the omw *1w 5w nnna regarding these three issues ).

mooin first cites s""w interpretation of the three 7111 vnw, and then explains
why it is necessary to mention all three.

— PPVINYA XN MINT PN 9INT INNDY RIINT O©IIYY INT INTI ONX DIVNPA W9
s"w9 explained that the meaning of 2171 0»n *5v2 means if they were
rejected (even while they were alive) from being offered as a 1277, they are
rejected forever (from being offered as a j27p). It is necessary (for *") to

s 1o (mR) X

% X,20 &»1 and X,770.

® This "7 (to which all agree [except for (2,30 X11%) »%17 7117]) is by 20w (not 1"'v1) and the a7 is NP
7137 (not merely 2°n7 nw1TR) and it was anT1 AX0 (it was initially fit to be sprinkled and then became 109).
*112,20 (MK) XP.

3 R,T0 RAY.
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teach this for there is another opinion which maintains that there is no

rule of eternal rejection, except by slaughtered n1127p -
— “@IN9) DYINN INTIY DN Y9¥a YaN

However live animals that were rejected from being offered as a 1277 can
return and become fit again for a 1277 (if the cause of the rejection has

been rectified) -
— 18N NPDY AW NNRNA 7D NAIP NPT

And according to that 7"», this 7772 will be fit to be offered as a j27p
when the original partner returns and buys the other half, not like 771 .

MooIN continues with >"w1o on the second n"w:
— NN NN NIPIVN MNT NI YW

And we derive from this that an initial rejection is a rejection -
— 29999 NN KD AYITPN NIINNNY T 1N VIS

The explanation of this n"w is; for instance this animal that from the
beginning of its sanctification (when the partner was first w721 his half) it

was not fit to be offered as a 3299 (since only half the 712 was wipn). It is

necessary to teach us this ruling also -
— AN AR KON MNST PNT 1997 ')Nm NIIRT

For there is another opinion which argues and maintains that there can

be no initial rejection, only if it was initially fit and then rejected; only
then is it considered a “117°7; *"7 disagrees.

nvoIN cites *"ws for the final »n"w:
— SD’):‘T:I NN YW NN YIAY)

% The general explanation (for this and X7y "7 2772 "r7) is that if something was already offered as a
1292 (it was slaughtered) and then rejected, it is inappropriate to offer it up again, once it had been rejected
(after it was an actual 127p). However if it was never offered as a 727, then any rejection prior to being
offered as a 127p is not an adequate rejection to make it unfit forever; since it never had the status of being
an actual 129p.

73,35 .

¥ There are basically two types of w7pn. There is 7147 nW17P where the object itself (for instance a 7%i2) is
consecrated to be offered as a 127p. This animal (as long as it receives no 0, etc.) cannot be redeemed and
it must be brought as a 127p. It has an intrinsic 7w17p — 77 nW17R. There is also o7 NW17P, where someone
is w™7pn something which is not fit to be offered on the 12t (a utensil, or a blemished animal). This is
called o7 nw17pR; the object is holy for its monetary value only. The 1213 of w7pn will sell this object (and it
becomes 1211) and wTpn retains the money of the sale. The object has no intrinsic 7217p, as it can and must
be redeemed. In our X7») the term 2°17 NP refers to cases where he was w>7pn the animal for a 3272, and
for whatever reason it was 7171 and cannot be brought as a 7277 (as in the case of °xn w»7pm), hence it
receives a 07 NP, where the rule (usually) is that it must graze until it receives a 01, and then be sold,
and a new 727 be bought with the money. This last »"w teaches that even if the animal became unfit when
it was only o7 n17p, nevertheless even if it becomes fit later it is rejected from the r2am.
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And we derive from this case that there is rejection even if the object has

only a monetary 7@I7?; not a bodily mw11p (31 NWYTR as by a 127p) -
— 11919 NON VITH PRY 9292 MN2T DNIN Y U199

The explanation of 2°n72 "1°7 ¥ is that the laws of »1>7 apply even for

an object which is only sacred for its monetary value -
— 118N T IVTP 9NNY NTY NIN DWITPN XY NYINNNY T 1N

For instance this 757w animal, which initially was only sanctified for its

money; that it should be sold and half the money would be 217 -
— N NN NY PRINY 29999 »9NnY

For it was not fit that half the animal should be offered -
— 299 NAMAN YYN MINTD MINMT NN NYY YN Y91 179N

And nevertheless the rules of y7 apply to this animal that it is to be

rejected from being offered on the 1121 for ever -
— 29791919 WPINY 9372 KIN N7 PN 1399IN XYY

And we do not maintain that there is no »1°7 by 027 n¥17p; and there is

"7 only by something whose body was sanctified to be offered on the
nar (i.e. 70 nwhTp like a 129p). This concludes Nv0IN citation of "w3D.

In Summation: according to 71 "1 something which was rejected once from being a 727p,
can never be brought as a 127p, even if, 1) it was rejected while it was alive; 2) it never
became a 7277 but was rejected initially; and 3) it only had o7 nunTp.

nooIN asks:
— 9N‘1‘P’)’b NN DT MINYT YW NI YAV 3NN 23D 9199199 %Y 11135 99NN ON)

And if you will say; why is it necessary to teach these two »'"w, that
there is 29272 »11>7 and RIPSY% W17 is a 7. It is not necessary to divide
then into two separate rules -

— o173 N1 NN XYY NIDIPM MNPTY TWIN N NI
For it is impossible that something which was X9p»» 7r72 that it should
not be a 2972 7. If we were taught that a Xp°yn "7 is a "1°7 we would know

that there is a @72 *17°7, since anything which was Xp°¥» 7n71 never had a 737 nw1TR
only 217 nUTpR.

%1t is evident from the ruling of *"1 that there is 2°»72 "7 and XP°¥» 177 (for this animal when it became
WP, it was only 27 nw1TR2 WITR and it was XIp°¥n 7771 as soon as he was W 7pn it). The question is why
mention both rulings. It seems that every X7p°¥»n 11°7 is only a 27 N7 (since it was 7n71 immediately);
therefore the question is if we just mention one n"¥ (either X7°¥» "11°7 or 2172 "7) we already covered
both possibilities since (seemingly) one cannot exist without the other. (See footnote # 16.)

19 xp>vn "7 means that as soon as he was w>7pn the item it was initially unfit to be brought on the mam;
meaning that it never achieved the status of 717 nW17P (since it was immediately 7171), only 217 nunp. If
we assume that X1p°vn "111>7 is 02w An71 that is synonymous with %72 "7 w°.
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mMDoIN answers:

— NN NYVITP WITPY 23 HY GN NIPIPN NPT INIUNT 1Y U

And one can say; that we can find a case of X9°y% 137 even though it is
e TR with 57 nwnTp -

— 1399 Y191 250 YN 1A 04tn 97 pa1mae) 1910 )3 P99 13NY° 539 N1

As "7 states in 77777 9%a1 pao; for instance if one accidentally ate 2%m and
set aside a nXv 329P -

—92 9N B30 NHMAY TaM

And he worshipped idols and subsequently repented from this sin -

— N 13112913‘\ DYV NATT OIVN D230 NHTIAY Taywd AN 2558919

So since this 1277 was 1171 when he served 2''12p, since ‘the sacrifice of

the wicked is an abomination’, therefore this j27p is 1172 forever. This is a

case of X1 wn M7 and it is AIAT DT TR, This animal retains its 7IA7 DWYTR (it cannot
be redeemed) even though the w>7pn is 1"'v 721 and therefore he is unfit to bring a 127p.

mooIn responds to the anticipated question. Seemingly here it is not a X p°vn "7 for
when he was w>7pn the animal he was not 1"y 721v. m90IN replies:

— NN 1297 YWD ONN VP NPT INDY
And when "7 mentioned there that he set aside a 3297 before he served
1"'v that is not to be taken literally -

— RIYP2YN MHNT NN NHYNT 1299 U990 T2 9NN ©22I10 NHTIY TaY PIN XyDT
For the same rule would apply if he first worshipped 'y (after eating the
2%11) and then he set aside the 327 before he did 721wn and now it is a
RPN AT (it would also be 173, even though it is a X7P°yn "1°7). NBOIN proves his
contention -

— 591159 91 RIPIYN INT 1YY NINT NYD 1IN %29 XY
For it is v''7 who maintains that Xap w» "7 is a 097 917 therefore it
makes no difference when he was w197 the 127p it will always be fn71.

mooIn responds to the anticipated question. If the ruling of >"7 applies even if he was
v 91 the 127p after he served 1"V, so why does *'"1 state that he was w191 the 1277 before
he served 1"y?! mooIn explains that *"1 did so -

— 0NN N7 1IN 2297 RN TN DIVN KON

"If one eats T3 257 he is N7 20 and [therefore] if he eats it A\W2 he is 2°°11 a DRVA 127p.

2 Others amend this to X771 (as it appears in "17710).

13 15,83 Hwn.

4 This is the case of a Rp v 7 (for when he was w>7pn it [while he was an 1"V 72¥] it was 771 because
of 72y o°ywn nar) and nevertheless it is still 137 NP, The "7 is because of the person (he cannot bring
the 727p); not because of the animal (the animal is fit for a 127p it has 77 DY17R). See 7"7 2,12 77N MBOIN
n"w who states (concerning this very case) 1279 *"'V "W PR AW 7N DWTR WP
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Only because of the other ruling of >''2 which the X723 cites there -
— NNV TN HLNYN 1a9P Y91 adN YaN

If one ate 257 and was w™po» a 12°? and became insane, and

subsequently become normal that 1297 is 7773, for during the time when he was a
70w it could not be brought as a 727p. In this case, " -

— NI NYWAHDN 92 IND NN NIV 1999 NIINN NVNYIT 919120 81 NYT
Could not have said that he first became insane and then was 797 the

127p, for since he is a v he is not capable of being w>95% a 127p. Therefore
in that case it was necessary to state that he was w791 the 7127 properly. And since in that
case of *"1 the 7w157 took place first, therefore in the other case of 1"¥ -

— 01099 NTAY TaY 129P YWII9D 29) VP)

He also mentions that first he was w15 a 3297 and afterwards served 1"v.

mooIn showed us a case where it was Rp°y»n "7 and 77 DwYTp. Therefore if the Rn)
would just mention X7p°v1 "7, I would not know whether there is a *11>7 by 27 nun7p
or not (since there can be a case of X7y "1>7 and 717 mzmp).lS

The issue at hand now is whether there can be 2°»72 *11°7 and it should not be Rp>y»n »i7°7.
If every o n7 nw17p is a XIpP°yn "7 (as it would seemingly appear16), then the X713 should
have just mentioned that there is 2°»72 "11°7 and I would know that there is also "7
Rp°vn. Therefore nooIn will now show that there can be a 2°n7 NP and not a "7
X vn. This will explain why it is necessary to mention XIp°¥» "11>7 even if we mention
2’172 M7, since the two are separable.

— NIPOYN NN 9N NIT 23 HY GN 0INT NWITP 193 INIYN)

And we can also find a 2°%»7 n27P even though it is not a R y» 17 -
— 497 N9 INDAY NP WII9ND P

For instance if one set aside a female sheep for his nop 1277 and she bore

a male sheep -
— 7aamam N2 ADO PRT DT HYITH N0

" If one would just be aware of the »"w that “¥1°7 7 X"y *1°7 he may mistakenly assume that it refers to
a case where it was a XIp°¥» "7 and 7137 DW1TR (as the case of 1"'V) but he would know that there is a "7
o°n72. It is obvious if one knew the source of this »"w (the case of 7onw) he would be aware that "7 v°
on71 as well.

' When one is v 7PN an item that can become M7 NWITPR, it receives 71a7 nw7p. If an item has only nwp
o°n7, this indicates that it cannot have 717 nw17p, which means that it is a X2p°¥» "17°7, that as soon as it was
made w7pn it could only be 7 nw17P and not 717 NwNTR. This is a R wyn w07, [If it originally was a nwTp
7 and it was 71773, and became a 0°n7 NW1TR, then the "17°7 already took place when it was 7137 nw17R.]

7 According to the omam, this 721 should graze until it receives a o and be sold and the money used to
purchase a ros 127p. (¥"7 in N3 N30 and/or ATYHR ' in 777N N0 maintain that the 151 791 itself can be
designated for a 1oo j27p. See later in this NMooIN. However n1von is assuming the view of the o).
Others (°"n3y) explain that n1901n is referring to the view of (ATY>HR ") w"A. [A"y¥1]
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And the male sheep (as well as the mother) is only a @27 nenTp for a 279

nop cannot be brought from a female; the nunTp of the mother is a 17 NYTP
and this 7w17p is transmitted to the child who is also a 2°»7 nw17p and is therefore 771

— 15259505 N 1990 29NY RIPI9NI N1 M1 XY
And it would not be a X9y 137 for the child is fit for a 3292. Therefore if
we were only taught that a @272 "11°7 is a "1°7 we may have mistakenly assumed that this
is only in the case of the noo7 773, but not X1p°¥n *11°7, therefore it was necessary to add
that even "7°7 177 RIPYR M7,

mooIn offers an alternate solution why both n"w are mentioned:
— NTN 0T NYITP NI YAV 1)P09)T 02990 v

And there are texts that read, ‘it is derived from this that a7 nuTp
rejects’ -

— 113 RS NNINM 2INPTN 399919 ANNNN ANNT Y9
And they explain this to mean that something which is only a 27 nu P
can nevertheless be 7m7 its 790 from being offered on the nam. It is
derived since "1 taught that its 7920 is similar to itself. This 7nma which is
only a 2°»n7 n¥17p (and it cannot be brought as a 127p [ever] affects its 770 likewise, that
the 77N can also never be brought as a 127p. This solves the dual n"v issue. The &3 did
not say that there is 2°»72 "1°7 for that is derived from the fact that there is a Xp°yn "7,
rather the X7n3 is teaching a different »"w that 2°n7 NP can be A77H a 77NN,

mooIN rejects this interpretation and X071
— Yy 19\’)‘1‘,7)3 NIVN 22D (x,n3 97 NI RNT RN XD

'8 The novelty of X7y "1°7 is not (only) that it was 7r71 as soon as it became wTpi1 (which would apply to
this 121 791 also), but rather that it is 71773 even though it is initially totally unfit to be a 127p. This "7
X72°1 can be on account of the 0°9v2 (as in the case of 1"y 72w or by Wy wWIpn X1vn) or on account of the
1277 (as in our case of 1onw '1). If something is totally unfit to be a 1277 one would think that "1*7 is
inapplicable. (It would almost be tantamount to saying that every 1> ninna which is presently not fit for
the nam [since it is not w7pr] therefore it should be 717171 forever. This is unsound reasoning and one would
think the same applies to X7p°vn 17, that since the animal is totally unfit for a j27p, there can be no *117°7.)
However by this 131 1, he is fit for a j27p; he is being 11171 (not because of the o°7v¥a and not because of
himself [which would make it a X7y "117°7] but rather) only because he is a 217 n17P (on account of the
mother). The 791 is not a 027 NW17p because he is unfit and was 73, but rather only because he is a 771 of a
77 nTp, therefore he is an7a. If the »"w would say o°n72 "11°7 w°, we would assume it is referring to this
case where the 721 is 12777 "x1. We would never derive from this n"w that a regular X1p>v7 "n>7 (where the
animal is totally unfit for a 129p) should be a proper "1r*7. (See 7"210.)

' If a person who is &b enters the w7pni1 n°a (or he eats 0°w7p) inadvertently, he is required to bring a 727
(that is referred to as a 127p) 71" 72, A rich person brings a sheep (72w3), a poor person brings a pair of
birds (2>1n or 1111 °12) often referred to as a jp (nest), and an extremely poor person brings a flour offering.
(See »-X ,7 P79 RIPM.)
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And it is not correct; for in nN%I> NdOo» concerning a wealthy person

who inadvertently desecrated the wTp? with N2 -
— AN N1 NN S9N INWASY 1P YI9NY

Who set aside a nest of birds instead of his sheep for a X210 1277 and he
became poor, the ruling is that since the j? was 1772 when he became an

WY, 1t remains 771 even if he becomes an *1v. In that X723 -
— PHYHYA 1D NYN NI PRV 213 1309)

The text also reads; ‘we derive from this three’, just as in our X923 -
— Zmaiya NN PRT 1NN NNTA DT NYITH WY PN Th95 YY 0N

And perforce we cannot explain the third n"? to mean that 2°»7 p27TP can
reject the 7720 (as the o°w1dn w» are 073 by us), for there is no rule of

770 by bil‘ds;22 the 7w17p of a bird is not transmitted to its 77120 -
— 11259 NINY YT 13990 T3 By NN

But rather we must say that o°n72 "7 @ is referring to the statement of
7292 FIORY ARNTR (and it is not referring to 77N AWW).

nvon asks:
— 95 NYN 2N IIWNYNRY 1IN 229D NYD NN 9INRN ON)

And if you will say; why is it necessary for our X713 to inform us™ that we

can derive these three rules from the teaching of ''1 -
— (%% 97 DAY S NV DYDY ) P93 1Y 1YY N

when we already derived it from a 7I1w» in R&W 7572 5% P99, If it can be
derived from a mwn, why derive it (also) from "3 who is an X71K.

MDOIN answers:
— (ow) MNI9T XINA P92 XX RNNDIT DIVN 9D U

And one can say; since there is a dispute in the last 295 of nyns1> noon -
— DINYMIND 1927 21991 13299 INNI? 12 PYNY 229 NA VY

20 When the "Wy was w>9n the 1 it was 173, since he is required to bring a 72w> and not a 1. He would
not fulfill his obligation (then) if he brought a 7p.

2l See the R,3 77N 73wn that 770 PRI X M91WwH because it says (°,12 ["Mpra] X7p™) that 7022 3002 0.
** See ‘Thinking it over’.

* There is no question why >" teaches us his ruling, for he is informing us that this 27 Nw1Tp is ww
72 XXM An7m 370 which we do not know from the f1wn that nvoIN is citing. Rather ndoIN question is
why the X7n3 finds it necessary to derive these three rulings from the teaching of *"2 when we derive it from
the 7awn in 0°10D.

* The mwn there (on 2,1¥) states if one sets aside a 721 for his oo 1277, it should be set out to pasture until
it develops a 01 then it should be sold, and a on>w (see footnote # 27) be brought with the money. X172
YWY "7 712 comments that we derive three rules from this 71wn that *1>7 7 Xp°yn 17,2071 1"va and w°
0°172 "7, the same three rules as here.
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Where >"awn and the 3327 have a dispute,” therefore our X3 cites the

rulings of the 238912R to derive these laws from their teachings which are acceptable
n37n%.

MooIN asks:
— N9 294 Yy 7299 NY INNAN NINNY v

And one can wonder why the X773 does not challenge the ruling of 5" -
— NOYYIN 22947 1YY (ow) MNI 91D 79997 9990 95
As the X713 in the end of nins1> noon challenges the view of Xoywr ' -
— anTs AT 9NN 2PN INYWAIY 1P WIIDNY PYY YD RNVM INT
Who maintains that a rich man who was wTp»n R»u» and set aside a p?
instead of a sheep and became poor, the ruling is that since it was 72

when he was rich it remains 71772 even when he is poor. This concludes the ruling
of X" -
— HDAN DN INDAY] NAPI YII9ND YINT NINDN PINRY 5291 Ay 15997

Where the X773 challenges "2 from the ruling of ' by the case where
one was w1 p» a 7ap: [for his o 1277 before nop; the ruling according to

the 13127 is that -
- [27hVQ 191272 N2 9095 ARNONY Ty NYIN

She should graze until she is blemished and then sold and with the
money he should bring another 1o 127p -

— [P 11972 N22%] 9919 ANNDIY 1Y DY’ 997 N1
If she gave birth to a male, he should graze until blemished, be sold [and
a nop 1277 be bought with the money]. This is the view of the o°»3m, however -

— N 2997 MY XN 99N PyNY *aM

w''% maintains that the 257 child himself can be brought as a nep 127p;
indicating that ¥"" maintains there is no "7 by 11"v2 in opposition to the view of "
X ywX. The question is why does not the X723 here ask this very same question on " as
it asks on X>ywIR 7!

» In the case (mentioned previously in this n19010) where one was w19 a 1057 721 and she bore a 157 the
051 maintain that he should graze until he receives a 01 and be sold and the money should be used for a
nos. The o1 itself cannot be brought as a 105 since he is the result of a 717 7w17P (his mother was 7r71
since she is a 72p1). However *"2w1 maintains that the 727 itself can be brought for a nos. This proves that
according to *"2w" there is no "7 by n1"va. Therefore it was necessary to derive these rulings from the
teaching of "1 (and XYW " in MN°1 concerning a "Wy WIpn ¥nwvn), who confirmed that we follow the
ruling of the 1127; and not of >"2w".

%6 The 3 there concludes that *"27 7°12 X117 27 K that N0 »"w from XY " as we say here by *".

?7 See previous footnote # 24 where the X3 in 002 is cited which states that a 2w be brought with the
money. It would seem that the X773 in 0°1709 is discussing a case where 1109 had already passed (and the rule
is that o°n5w5 nos;7 Inn), and the X3 in MIN*3 is when it is still before 0. See R,v° 7M.
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nddIN continues to ask on the X773 in NNAD:
— 132971 NYY NYHOY PYNY 5391 NYY TPIDTR NI

And furthermore; instead of challenging X" from the view of w''9, let us
support X"7 from the view of the 3139, who maintain that the 127 is 7771 even
though he is a >n Hva -

— ANNODOY 7Y DY NYII2 9INPT
Who say in the beginning of the ¥n>92 that the born 7271 should graze until
he becomes blemished; indicating that there is »1>7 by n"v3, as X"1 maintains —

An additional question on the X373 in NN*73:
— N£?2929 IYNY 2290 PI99TX ANTINM 72997 1173 N

And additionally, since the X713 challenges X"7 from the view of an
individual (¥"), even though the o°»5n argue with him, then rather than

challenging X" from the ruling of @' in a Xn93, the X113 -
— PammnT pannt 91N 5291 1198Y

Should challenge X" from the ruling of X''9 in the mwn of 7920 ndon -
=99t 1199 Iy NPy WM 23 (a0 41 BIYTP 1IN 799 T

For we learnt in a 7w in 2°27p X P75 concerning one who set aside a

7ap1 for an 79w and she gave birth to a =37 -
— AP 2997 INY RIN N RYIIN 229

X' maintains that the o1 itself shall be brought as an 79Ww; again
indicating that there is no 11"v22 "1°7. Why was it necessary to ask from the Xn»92, when
we could ask the same question from a 7awn?!

In summation: NM1901N asks three questions. 737 " and X°Y¥X " both maintains 2°171 11"'v2.
The X713 in Mn>1> challenges X" from a ruling of ¥"1 in a XN>72 (concerning 1109 127p),
who maintains 2°771 17"'v2 PR,

Question 1. Why does not the X713 ask the same question here on "1?

Question 2. Instead of challenging "7 from ", the X723 should support X"9 from the
view of the 1127 who maintain 1171 17"'v2a!

Question 3. Why does the &723 challenge X" from "9 of a X172 when there is the same
view of X" (concerning a 79w 129p) in the mawn?

moon answers (the second question):
— 1711 1929 Y22AN NYNNAT DIVN PIYNRY 23919 72997 RNIYV 13991 9D U

*® The X3 there indeed answers it this way; Mo is asking how could there even be such a question!
** A ruling cited in a 73w is more significant than a ruling cited in a X2,
0 A oW 127p can be brought only from male animals. The 2109 in 3 ,X X72" reads 137 P27 1 1127p 77 OX.
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And one can say that this is the reason that the X723 challenges X" from
w'9 (even though the 0°251 argue on w'"7) because in that case (of X"

concerning the p) it is possible that even the 3129 will agree that there is no
"1°7 (and he may bring this 1p if *1v77) —
— o3 HWITH N3 THUT 9273 NIN 199 1929 9999 NY 1N 1Y

For the 1129 argue on ¥"1 and maintain 2°7721 11"¥2, only in cases where

a7 nunTp is applicable (by regular animals), for —
— 4NN HWHITP 212 N2 NHN) O©NT NVITP D22 RHNIT I »920

The 7127 maintain that since 227 D217 ‘rests’ on the animal, then nw TP

7337 can also ‘rest’ on the animal® —
— NP I N HDA PN AW 1A XY 91NN HUITY

However it cannot be a w7 NP since a 7o 1272 cannot be from a
mapi; therefore it can be 7m71 —

— Pmoiwa NN DINT NUITH PR $I0Y 1M 1329 199N 17 %33 YaN
However by the 3p even the 3339 agree that the j is not 7771, since nwI7P
27 does not apply to birds.> When there is no effective n131 nw1Tp, there is no
concept of 27 NP and 11°79, rather the birds are 171, and therefore (we could have
assumed that) there can be no "1°7.

mooIn answers the first question:
— YIMND I8N RY NONT 1IN 2297 NI

And the X3 could not refute the view of ' here —
—Noab NAPI YII9NNT NYDD 23 MINT Ovn
Because the case here is similar to that case of yo5%» map: wyapnn, they both

refer to animals and not to birds —
— 19297 APYPOY NN NN PYNRY 22919 2551 NN IN)

*! This means that if someone was w>1pn for (127p) M w7 and it was not mam? MR7 it is to be redeemed,
and a replacement 727 is to be bought with the money of the sale.

32 See 2,u° 77nN concerning the 71wn there that if someone was w*195n an 72p1 for an oWy, the rule is that
121 2axnonw ¥ Ayn. The X3 asks why the 7yAn, since she is not fit for an awX, this is (the equivalent of) a
2, so let us sell the 712p1 immediately. The X723 responds 7137 DWITR 7°2 RNAI 2T DWATR 12 XNAIT A2 and
therefore it cannot be sold since it is considered as 727 nw17p. The fact that the new animal which will be
purchased with this money will retain the same 7137 n17P as the intended 7un7p of original animal proves
that the original animal (even though it was 71771 and only has a 2n7 mw7p, nevertheless it) retains a certain
measure of 7137 NP The same can apply here, where there is a "17°7 by the N3, since there is a nwITP
o°n7 for 1179 and therefore also somewhat of a 7137 nYYTpR.

 This answers the second question, we cannot support X" from the 1127, for in the case of a jp, the 1127
may side with " to oppose X".

** Even though there is no a°n7 NW1TP by MW, nevertheless we derive from X" (who discusses the 1) that
Q72 M°T 7, meaning that there is "117°7 even if there is no 737 NW17P (and no a°»7 NWYTP) as in the case of
WY wIpn Xnvn. See R"wAmn and MY 3"T 2,00 770 DI1DOMN.
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And if the X3 would attempt to refute "7 from 2'9 we would answer
that he is supported by the 3129 who maintain that by n"va (animals) there is ¥7-

mooIn (seemingly) is answering the third question:
AN NINT DIYM MIAMINY 813 KY 1) ITIN 797 NN

And the X713 could not refute X" from the ruling of X''9 since his is only
a singular (not a majority) view.

SUMMARY

There can be Xp°vn M17°7 even by 7137 DW1TP (the case of 1"'V) and there can
be o°n7 nw17R and not be a X1P°yn »7°7 (the case of 1571 791). There is no 77N
or 775 by noW.

THINKING IT OVER

mMooIn rejects the X077 of AT @7 PYTR for it is not applicable in the case
of "Wy wipn Xnun, since there is no MoW2 71N> Seemingly even if there
were N 77N, this X07°) 1s incorrect, for how can we derive from the
ruling of X°Y¥IX " that 227 DWITR 1s A7 a 77N, when X7 does not discuss
it?!

35 See b mx n"17 TIRA X"wnn who explains (based on the mooIn in n"w 7"7 2,90 77%N) that in the npYonn
between w"1 and the 1227 (concerning 937 7777 M05? 712p1 wI9A) it is possible to explain that they argue
whether we say 7137 NWTP N1 XNN3 27 NWTR 80T 1 (as we find a similar np12nn in 2,0° 77N, where the
X7m3 offers this explanation). If indeed this is their npY2n by noo, then we may assume that concerning the
case of X'y " by 1wy wIpn Rnvn who was 1 W on, even the 00 agree that there is no 717 since there
is no o7 NW1TP by Mdw. However concerning X" we do not find any dispute between him and the o°»2m,
concerning 121 °n17 M. We therefore assume that they argue whether on71 1"ya. We cannot refute ™
Xy from the ruling of X" that 11"y2 are not 1171, since he is a 71> N¥7 and the 031 maintain that 1"ya
7R

% See footnote # 22.
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